S T UDY CENTRE

RATIO & PROPORTION (aidsb & sfaldlsib) Assignment

1.

4.

If in 30 litres mixture of milk and water the ratio of milk and water is 7
: 3, find out the quantity of water to be mixed in order to make  this
ratio3:77?

a. 40 litres b. 50 litres c. 60 litres d. 80 litres

30 QI LT Hevemeuuled LITed OBEID Hewtenifesr aldlsbd (wwewmBuw 7 :3 o5
BmbaEH. BUCuTipgkl  Fev  &ILLT  Hewiewtt CFTSHULLLLIBG D6
BB weopBuw 3 : 7 e wTpIFEBE eiefled  eelalene)] 60U LT  FHewTemniT
GairdbalIul L gI?

a. 40 litres b. 50 litres c. 60 litres d. 80 litres

Two numbers are in the ratio 3:5. If each number is increased by 10, the
ratio becomes 5:7. The numbers are

Breni® elewidbeile aldldd 3 : 5. @ealbeuT(h eemwieneoiu|ld 10 DIHSMHHT60
SuBpsler allFHHb 5 : 7 eleley, DIHSH 6IewIH6IT

a.3,5 b. 12, 20 c. 15,25 d. 18, 30

A sum of Rs.312 was divided among 100 boys and girls in such a way
that each boy gets Rs.3.60 and each girl gets Rs.2.40. The number of
girls is

a.35 b. 40 c. 60 d. 65

312 & 100 wrewial, wrewalsaien Bl @ TS h.3.60 ¢
reialsg @h.240 b HewLd@buy LRSI (UGHBSI.  6Tefled  LoT6wTa 61 60T
616001 6001160 &

a. 35 b. 40 c. 60 d. 65

If A:B=2:3, B:C=5:4, then the ratio of A:B:C is

a.15:10:12 b.10:12:15 c.10:15:12 d. 2:8:4
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10.

11.

12.

13.

b

The ratio of boys and girls in a class 4 : 5 if the number ofboys 1s 24,

find the number of girls
a. 20 b. 19 c.16 d. 30

RH UGSLILNeL 2 6iTem LoTewTeUeT oBmID WTenialsefler aldlsd 4 : 5 ele
® 6iI6NGI. LDTemIeUee  clamienllbend 24 6leoleL  LDTewTA G616  6T6u0T6mIE: M S

QLIBIRITN
a. 20 b. 19 c.16 d. 30
1f A-B_Cihen AB:Cis
3 4 5
a.3:4:5 b. 2:4:6 c.1:3:5 d. 2:4:8

If A:B=7:8, B:C =24:9 Find A:B:C?
a.12:20:8 b. 21:24:9 c.21:12:9 d. 7:8:9

What is the ratio of 2 2 hrs to 20 minutes?

2% vefl CEISEBED 20 BIALSHBEL o cien @bz
a.15:3 b. 15:1 c.10:2 d. 15:2

If A:B=6:5, B:C=5:8 and C:D=7:9, then the ratio A:D is
a.3:7 b.7:3¢c. 12:7 d.7:12

If x : y: z=1:2:3 and x2+ y2 + z2 = 224 then the value of x3+ y3+ z3 is
a. 576 b. 1728 c. 2304 d. 2240

Ifx:y=2:3andy:z=5:7thenx:z=7?
x:?2=2:3Cweib y:z=5:7 erefled x:z="7
a.2:7 b.3:5 c.7:10 d.10:21

If x: y=3:4find (4x+5y): (5x-2y)
x:y =3:4eaafled smenis (4x+5y):(5x—2y)
a. 32.7 b. 8:7 c. 7:4 d 34:7

Ifa:bis2:3,b:cis4:3andc:dis2:5thena:dis
a. 18:45 b. 16:45 c. 8:45 d. 16:18
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14. Ifa:b::c:disa proportion then, which one of the following is true?
a:b::c:d oeeus @ s FoHMSH o (HUTHGHIBH eTeled
LNevTeu(hHeueTeuBmIeT 618 GILOUIWITETS)?
a.a:b::d:c b.(a+b):b::(c+d):c
c.(@a-b):b::(c-d):d d.b:a::c:d

15.  There are 1,00,000 voters in a city. If the ratio of male to female voters
11 : 9. Find the number of women in the city.
a. 55,000 b. 45,000 c. 63000 d. 54,000
@ SHIMogFHed 100000 eUTHETENTHET 2 _6TeN6IT. DIEUTHANE0 LW  LOBHILD
Guewt al&@sd 11:9 eefled, Cuenimelle eTewTenlbHames?
a. 55,000 b. 45,000 c. 63000 d. 54,000
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